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INPUT19 [0:4]
INPUT18 [0:4]
INPUT17 [0:4]
INPUT16 [0:4]
INPUT15 [0:4]
u22
INPUTI5 0 3 [~ a | 2__tofl5 adc bit 0 TOF DSM
INPUTI5 1__& 1A = T1of15 _adc bit ON
INPUTI5 211 | 2% 1B "~ %of15 adc bit 1 INPUT 15
INPUTI5 313 | oV 2A I (of15 _adc _bit IN J16
4y 2B ™0 tofl5_adc bit 2
3A 70" tof15_adc bit 2N tofl5 adc bit 0 1
3B 714 tofi5 adc bit 3 tofl5_adc bit ON o
AA 7 - 1of15_adc bit 3N tofl5 adc bit 1 3
4B tofl5 _adc bit IN 4
tofl5 adc_bit 2 5
OE tofl5_adc bit 2N §
OE tofl5 adc bit 37
== tofl5 adc bit 3N g
BRR1AL6 tofl5 adc bt 4 g
tofl5_adc _bit 4N 10
BOARD CON 15 11
12
RS 15 13
RS 15N 14
u23
INPUT15 4 3 2 tofl5 adc bit 4 = CON14
INPUT16 0 =1y 1A 717 %of15_adc bit 4N
INPUT16 1 1112 1B "™ tof16_adc bit 0 R20
INPUT16 2 13 | 3Y 2A 707 1of16_adc _bit ON RES
4y 2B 0 tof16 adc bit 1
3A 70" tof16_adc bit IN
3B 714 tofi6 adc bit 2
% 15 tofl6_adc bit 2N i
TOF DSM
OE
OE _lﬁ_ INPUT 16
= Ji7
BRR1AL6
tofl6_adc_bit O 1
tofl6_adc_bit ON 2
tofl6_adc bit 1 3
tofl6_adc bit IN 4
tofl6 _adc_bit 2 5
tofl6_adc_bit 2N 6
u24 tof16 adc bt 3 7
tofl6_adc bit 3N g
INPUT16 3 3 2 tofl6_adc bit 3 tofl6_adc_bit 4 9
INPUT16 4 =1y 1A 717 %of16_adc bit 3N tof16_adc bit 4N 10
INPUT17 0 1112 1B "~ 1of16 adc bit 4 BOARD CON 16 11
INPUT17 1 13 | 3Y 2A 707 1of16_adc bit 4N 12
4y 2B ™0 tofl7 adc bit 0 RS 16 13
3A 70" tofi7_adc bit ON RS 16N I
3B 714 tofi7 adc bit 1
% 15 tofl7 adc bit IN e
= CON14
% R19
1 RES
BRR1A16 .
VCCT
TOF DSM
u2s INPUT 17
INPUT17 2 3 5 tofl7 adc bit 2 Ji8
INPUT17 3 =1y 1A 717 %of17 adc bit 2N
INPUT17 4 1112 1B - %of17 adc bit 3 tofl7 adc bit 0 1
INPUT18 0 13 | 3Y 2A 707 {of17 adc bit 3N tofl7_adc bit ON o
4y 2B ™0 tofl7 adc bit 4 tofl7 adc bit 1 3
3A 70" tofi7 _adc bit 4N tofl7 adc bit IN 4
3B [{4 tofi8 adc bit 0 tofl7 adc bit 2 &
AA 7 -~ tof18 adc bit ON tofl7 adc bit 2N §
4B tofl7 adc bit 37
tofl7 adc bit 3N g
OE tofl7 adc bit 4 g
OE tof17_adc bit 4N 10
= BOARD CON 17 11
BRR1AL6 12
RS 17 13
RS 17N 14
= CON14
u26
R18
INPUT18 1 3 5 tofl8 adc bit 1 RES
INPUT18 2 =1y 1A 717 %of18 adc bit IN
INPUT18 3 1112 1B "%of18 adc bit 2
INPUT18 4 13 | 3Y 2A 707 1of18 adc bit 2N
4y 2B ™0 1of18 adc bit 3
%’Q 3 tof18 adc bit 3N VCT
14 tofl8 adc_bit 4
% 15 tofl8 adc bit 4N TOF DSM
INPUT 18
OE
OF 12 J19
tofl8 adc_bit O 1
BRR1AL6 tof18 adc bit ON o
tofl8 adc bit 1 3
tofl8 adc bit IN 4
tofl8 adc _bit 2 5
tofl8 adc_bit 2N 6
tofl8 adc bit 3 7
tofl8 adc bit 3N g
tofl8 adc _bit 4 9
tofl8 adc bit AN 10
u27 BOARD CON 18 11
12
INPUT19 0 3 2 tofl9_adc_bit O RS 18 13
INPUT19 1 = 1Y 1A 717 %of19_adc bit ON RS 18N I
INPUT19 2 1112 1B m-%of19 adc bit 1
INPUT19 3 13 | 3Y 2A 707 1of19_adc bit_IN e
4y 2B ™0 1of19_adc bit 2 = CON14
3A 70" 1of19_adc bit 2N
3B 714 tofl9 adc bit 3 R17
A4A ™ & Tof19_adc_bit_3N RES
2B
oE
S e
= VLT
BRR1AL6
TOF DSM
INPUT 19
J20
tofl9_adc_bit O 1
tofl9 adc_bit ON 2
u28 tof19_adc bit 1 3
tofl9 adc bit IN 4
INPUT19 4 3 2 tofl9_adc _bit 4 tofl9 adc _bit 2 5
5| 1Y 1A 717 %0f19_adc bit 4N tof19_adc bit 2N &
1112 1B I+ tof19 adc bit 37
133" 2A tof19_adc bit 3N g
4y 2/? 0 tof10 adc bit 4 g
iB 9 tof19_adc bit 4N 10
iA 14 BOARD CON 19 11
2B 5 12
RS 19 13
oE RS 19N 14
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BRR1AL6
R16
RES
VCT
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INPUT14 [0:4]
INPUT13 [0:4]
INPUT12 [0:4]
INPUT11 [0:4]
INPUT10 [0:4]
u1s
INPUT10 0 3 [~ p | 2__of10 adc bit 0 TOF DSM
INPUTIO 1_& 1A ™ 16f10_adc_bit ON
INPUTI0 211 | 2V 1B "~%of10_adc bit 1 INPUT 10
INPUTI0 333 | 5V 2A ™~ {of10_adc_bit_IN Ji1
4y 2B ™0 1of10_adc bit 2
3A 75" 1of10_adc bit 2N tofl0 adc bit 0 1
3B 714 tofl0 _adc bit 3 tof10_adc bit ON__ o
AA 7 - 10f10_adc bit 3N tofl0 adc bit 1 3
48 tof10_adc bit IN 4
OE 4 tof10_adc b?t 2 5
=1 12 tof10_adc_bit 2N 6
OE tofl0_adc bit 37
== tof10 adc bit 3N 8
BRR1AL6 tofl0_adc bt 4 g
tofl0_adc _bit 4N 10
BOARD CON 10 11
12
RS 10 13
RS 10N 14
U6
INPUT10 4 3 2 tofl0_adc bit 4 = CON14
INPUTLL 0 =1y 1A 717 10f10 _adc bit 4N
INPUT1L 1 1112 1B "™ tof1L_adc bit 0 R11
INPUT1L 2 13 | 3Y 2A 70" {of11_adc bit ON RES
4y 2B ™0 tofll adc bit 1
3A 70" tofil_adc bit IN
3B 714 tofll adc bit 2
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OE
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u17 tofll adc bt 3 7
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INPUT11 3 3 2 tofll adc bit 3 tofll adc bit 4 9
INPUTL1L 4 = 1Y 1A 717 %of11_adc bit 3N tofLlL_adc bit 4N 10
INPUT12 0 1112 1B "~ %oflL adc bit 4 BOARD CON 11 _11
INPUT12 1 13 | 3Y 2A 707 {of11_adc bit 4N 12
4y 2B ™0 tof12 adc bit 0 RS 11 13
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INPUT12 2 3 5 tofl2 adc bit 2 J13
INPUT12 3 = 1Y 1A 717 %of12_adc bit 2N
INPUT12 4 1112 1B " %of12 adc bit 3 tofl2 adc bit 0 1
INPUT13 0 13 | 3Y 2A 707 1of12_adc bit 3N tof12_adc bit ON o
4y 2B ™0 tof12_adc bit 4 tofl2 adc bit 1 3
3A 70" tof12_adc bit 4N tofl2_adc bit IN 4
3B [{4 tofi3 adc bit 0 tofl2_adc bit 2 &
AA 7 - 1of13_adc bit ON tofl2_adc bit 2N g
48 tofl2_adc bit 37
OE 4 tofl2_adc b?t 3N g
=1 12 tofl2_adc_bit 4 9
OE tof12_adc bit 4N 10
= BOARD CON 12 11
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RS 12 13
RS 12N 14
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INPUT13 1 3 5 tof13 adc bit 1 RES
INPUT13 2 = 1Y 1A 717 %of13 adc bit IN
INPUT13 3 1112 1B "%of13 adc bit 2
INPUT13 4 13 | 3Y 2A ["o™1of13_adc bit 2N
4y 2B ™0 1of13 adc bit 3
%’Q 9 tof13 adc bit 3N VCT
14 tofl3 adc_bit 4
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, INPUT 13
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BRR1AL6 tof13_adc bit ON o
tofl3 adc bit 1 3
tofl3 adc bit IN 4
tofl3 adc_bit 2 5
tofl3 adc_bit 2N 6
tofl3 adc_bit 3 7
tofl3 adc bit 3N g
tofl3 adc_bit 4 9
tofl3 adc_bit AN 10
U20 BOARD CON 13 11
12
INPUT14 0 3 2 tofl4 adc bit 0 RS 13 13
INPUT14 1 = | LY 1A = T(of14 _adc _bit ON RS 13N 14
INPUT14 2 1112 1B "™ 1of14_adc bit L
INPUT14 3 13 | 3Y 2A 70" {of14_adc bit_IN e
4y 2B ™0 tofl4_adc bit 2 = CON14
3A 70" tofl4_adc bit 2N
3B [T14 tofi4 adc bit 3 R14
% 15___tofl4_adc_bit 3N RES
OE M4
OE 12
= VLT
BRR1AL6
TOF DSM
INPUT 14
J15
tofl4 _adc_bit O 1
tofl4 adc_bit ON 2
u21 tofl4 adc bit 1 3
tofl4_adc bit AN 4
INPUT14 4 3 2 tofl4 _adc_bit 4 tofl4 adc_bit 2 5
5 g % 1 tofl4_adc bit 4N tofl4_adc bit 2N g
11 6 tofl4 adc _bit 3 7
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INPUT5 [0:4]
us
INPUT5 0 3 1y 1A 2 tof5_adc_bit 0 TOF DSM
INPUT5 1 5 1A ™ T%of5_adc_bit ON
INPUT5 211 | 27 1B "%of5_adc bit L INPUT 5
INPUT5 313 | 5V 2A [~ tof5_adc_bit_IN J6
4y 2B ™0 tof5_adc bit 2
3A 75" tof5_adc _bit 2N tof5_adc_bit 0 1
3B [14 tof5 adc bit 3 tof5_adc bit ON o
AA 7 - tof5_adc_bit 3N tof5_adc_bit 1 3
4B tof5_adc bit IN 4
tof5_adc_bit 2 5
OE tof5_adc bit 2N &
OE tof5_adc_bit 3 7
tof5_adc_bit 3N 8
BRR1AL6 tof5_adc bit 4 9
tof5_adc_bit 4N 10
BOARD CON 511
12
RS 5 13
RS 5N 14
U9
INPUT5 4 3 > tof5_adc_bit 4 = CON14
INPUT6 0 = 1Y 1A %05 _adc bit 4N
INPUT6 1 1112 1B "™ tof6_adc bit 0 R10
INPUT6 2 13 | 3Y 2A ™0™ 156 _adc_bit ON RES
4y 2B ™0 tof6_adc bit 1
3A 75" tof6_adc _bit IN
3B [14 tof6_adc bit 2
% 15 tof6_adc bit 2N e
TOF DSM
OE
OE —lL_l_ INPUT 6
= J7
BRR1AL6
tof6_adc_bit 0 1
tof6_adc_bit ON 2
tof6_adc_bit 1 3
tof6_adc_bit 1IN 4
tof6_adc_bit 2 5
tof6_adc_bit 2N 6
u10 tof6_adc bit 3 7
tof6_adc_bit 3N 8
INPUT6 3 3 2 tof6_adc_bit 3 tof6_adc_bit 4 9
INPUT6 4 = 1Y 1A I"1™%of6_adc_bit 3N tof6_adc bit 4N 10
INPUT7 0 1112 1B ~"tof6_adc bit 4 BOARD CON 6 11
INPUT7 1 13 | 3Y 2A ™0™ 1of6_adc_bit 4N 1
4y 2B ™0 tof/_adc bit 0 RS 6 13
3A 75" tof7_adc_bit ON RS 6N I
3B [14 tof7_adc bit 1
% 15 tof7_adc bit IN e
= CON14
1 RES
BRR1A16 .
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TOF DSM
vt INPUT 7
INPUT?7 2 3 5 tof7_adc bit 2 J8
INPUT7 3 = 1Y 1A I71™%0f7 _adc_bit 2N
INPUT? 4 1112 1B "%of7 adc bit 3 tof7_adc_bit 0 1
INPUT8 0 13 | 3Y 2A ™0™ {of7_adc_bit 3N tof7_adc bit ON o
4y 2B ™0 tof7_adc bit 4 tof7_adc bit 1 3
3A 75" tof7_adc_bit 4N tof7_adc bit IN 4
3B [14 tof8_adc bit 0 tof7_adc bit 2 c
AA 7 ™ tof8_adc_bit ON tof7_adc bit 2N &
4B tof7_adc bit 3 7
tof7_adc_bit 3N 8
OE tof7_adc bit 4 9
OE tof7_adc bit 4N 10
= BOARD CON 7 11
BRR1AL6 12
RS 7 13
RS 7N 14
= CON14
u12
R8
INPUTS 1 3 5 tof8 adc bit 1 RES
INPUT8 2 = 1Y 1A 71 10f8_adc_bit IN
INPUT8 3 1112 1B 1078 adc bit 2
INPUT8 4 13 | 3Y 2A "0™1of8_adc_bit 2N
4y 2B ™0 tof8_adc bit 3
%’Q 3 tof8_adc bit 3N VCT
14 tof8 adc bit 4
% 15 tof8_adc bit 4N TOF DSM
INPUT &
OE
OF 12 J9
tof8_adc_bit 0 1
BRR1AL6 tof8_adc bt ON o
tof8_adc_bit 1 3
tof8_adc_bit 1IN 4
tof8_adc_bhit 2 5
tof8_adc_bit 2N 6
tof8_adc_bit 3 7
tof8_adc_bit 3N 8
tof8_adc_bit 4 9
tof8_adc_bit 4N 10
u13 BOARD CON 8__11
12
INPUT9 0O 3 2 tof9 adc bit 0 RS 8 13
INPUTO 1 = 1Y 1A 71™%6f9 _adc_bit ON RS 8N 4
INPUTO 2 1112 1B " 1of9_adc bit 1
INPUT9 3 13 | 3Y 2A ™0™ 15f9_adc_bit IN e
4y 2B ™0 tof9_adc bit 2 = CON14
3A 75" tofo_adc_bit 2N
3B [14 tofo_adc bit 3 R7
A4A ™ = tof9_adc_bit 3N RES
2B
ol
CE[E—
= VLT
BRR1AL6
TOF DSM
INPUT 9
J10
tof9_adc_bit 0 1
tof9_adc_bit ON 2
U4 tof9_adc_bit 1 3
tof9_adc_bit 1IN 4
INPUT9 4 3 2 tof9_adc_bit 4 tof9_adc_bit 2 5
5| 1Y 1A I717%6f0 _adc_bit 4N tof9_adc bit 2N &
11 2v 18 6 tof9_adc_bit_3 7
133" 2A tof9_adc bit 3N g
4y 2/? 0 tof9_adc_bit 4 9
iB 9 tof9_adc bit 4N 10
iA 14 BOARD CON 911
2B 5 12
RS 9 13
oE RS 9N 14
O
= = CON14
BRR1AL6
R6
RES
VCCT

BOARD_CON_[19:0] bits are optional, of which only 8 bits can

INPUT3 [0:4]
INPUT2 [0:4]
INPUTL [0:4]
INPUTO [0:4]
uL TOF DSM
INPUTO_0 3 5 tofo_adc bit 0
INPUTO 1 = 1Y 1A I"1™%of0_adc_bit ON INPUT O
INPUTO 211 | 27 1B "%of0_adc bit L
INPUTO 313 | 5V 2A [~ tof0_adc_bit_IN J1
4y 2B ™70 tof0_adc bit 2
3A 75" tof0_adc_bit 2N tofo_adc_bit 0 1
3B [14 tof0_adc bit 3 tof0_adc bit ON o
AA 7 ™ tof0_adc_bit 3N tof0_adc_bit L 3
48 tof0_adc bit IN 4
tof0 adc bit 2 5
OE tof0_adc bt 2N___§
OE tof0_adc bit 3 7
== tof0 adc bit 3N 8
BRRI1A16 tof0_adc bit 4 9
tof0 adc bit 4N 10
BOARD CON 0 11
12
RS 0 13
RS ON 14
U2
INPUTO 4 3 > tof0_adc_bit 4 = CON14
INPUTL 0 =1y 1A I717%0f0_adc_bit 4N
INPUTL 1 1112 1B "™ 1ofL_adc bit 0 R1
INPUTL 2 13 | 3Y 2A ™0™ {of1_adc_bit ON RES
4y 2B ™0 tofl_adc bit 1
3A 75" tofl_adc bit IN
3B [14 tofl_adc bit 2
% 15 tofL_adc bit 2N
vee TOF DSM
OE
OE _lﬁ_ INPUT 1
= J2
BRRI1A16
tofl_adc_bit 0 1
tofl_adc_bit ON 2
tofl_adc_bit 1 3
tofl_adc_bit 1IN 4
tofl_adc_bit 2 5
tofl_adc_bit 2N 6
U3 tofl adc_bit 3 7
tofl_adc_bit 3N 8
INPUT1 3 3 2 tofl_adc_bit 3 tofl_adc_bit 4 9
INPUTL 4 = 1Y 1A I71™%of1_adc bit 3N tofL_adc bit 4N 10
INPUT2 0 1112 1B "~ {ofL_adc bit 4 BOARD CON 1 11
INPUT2 1 13 | 3Y 2A ™0™ {of1_adc_bit 4N 12
4y 2B 0 tof2_adc bit 0 RS 1 13
3A ™5™ tof2_adc_bit ON RS_IN I
3B [14 tof2_adc bit 1
AA 7 ™ tof2_adc bit IN e
48 = CON14
% R2
BRRI1AL6
Yo
TOF DSM
u4 INPUT 2
INPUT2_2 3 5 tof2_adc bit 2 33
INPUT2 3 = 1Y 1A "1™%of adc bit 2N
INPUT? 4 1112 1B "%of adc bit 3 tof2_adc_bit 0 1
INPUT3 0 13 | 3Y 2A ™0™ {of_adc_bit 3N tof2_adc bit ON o
4y 2B 0 tof2_adc bit 4 tof2_adc_bit 1 3
3A 75" tof2_adc_bit 4N tof2_adc bit IN 4
3B [14 tof3 adc bit 0 tof2_adc_bit 2 c
AA 7 ™ tof3_adc_bit ON tof2_adc bit 2N &
48 tof2_adc bit 3 7
tof2_adc_bit 3N 8
OE tof2_adc_bit 4 9
OE tof2_adc bit 4N 10
BOARD CON 2 11
BRRI1AL6 12
RS 2 13
RS 2N 14
= CON14
us
R3
INPUT3 1 3 2 tof3_adc_bit 1 RES
INPUT3 2 = 1Y 1A 1 ™10f3_adc bit IN
INPUT3 3 1112 1B 103 adc bit 2
INPUT3 4 13 | 3Y 2A ™0™ 1of3_adc_bit 2N
4y 2B ™0 tof3_adc bit 3
%’Q 3 tof3_adc bit 3N VCT
14 tof3 adc bit 4
% 15 tof3_adc bit 4N TOF DSM
INPUT 3
OE
OE 12 J4
tof3_adc_bhit 0 1
BRR1A16 tof3_adc bt ON o
tof3_adc_bit 1 3
tof3_adc_bit 1IN 4
tof3_adc_bit 2 5
tof3_adc_bit 2N 6
tof3_adc_bit 3 7
tof3_adc_bit 3N 8
tof3_adc_bit 4 9
tof3_adc_bit 4N 10
U6 BOARD CON 3 11
12
INPUT4 0 3 2 tof4 adc bit 0 RS 3 13
INPUT4 1 = | LY 1A ™Ttof4 _adc_bit ON RS 3N 14
INPUT4 2 1112 1B "™ tof4_adc bit L
INPUT4 3 13 | 3Y 2A ™0™ {of4_adc_bit IN e
4y gi 10___tof4_adc bit 2 = CON14
al I tof4_adc_bit 2N
3B [14 tof4 adc bit 3 R4
4A ™ = tof4_adc_bit 3N RES
2B
OE
OE
Yo
BRR1A16
TOF DSM
INPUT 4
J5
tof4_adc_bit 0 1
tof4_adc_bit ON 2
u7 tof4_adc_bit 1 3
tof4_adc_bit 1IN 4
INPUT4 4 3 2 tof4_adc_bit 4 tof4_adc_bit 2 5
=1y 1A 71 ™%of4 _adc _bit 4N tof4_adc bit 2N &
1112 1B I+ tof4_adc_bit 3 7
13 iz % 7 tof4_adc bit 3N g
3A 10 tof4_adc_bit 4 9
3B 9 tof4_adc_bit 4N 10
3 a BOARD CON 411
2B 5 12
RS 4 13
oE RS 4N 14
S e
— — CON14
BRRI1A16
R5
RES
Yo
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VYME P2 CONNECTOR

VYME P53 CONNECTOR

N

J23A J23B Jesc
—AlL ] VME+5V _C1 | zi ., P4B P4ac P4D P4E
A2 B2 C2 72 INPUTO O Al INPUTO 1 B1 INPUTO 2 Cl INPUTO 3 D1
DSM_OUTPUTO A3 B3 DSM_OUT16 C3 72 | 22 INPUTO 4 Ay |21 INPUTL 0 mo | PL INPUTL 1 Co | ¢t INPUTL 2 Do | 4t
DSM_OUTPUTL AL B4 DSM_OUT17 ca 74123 INPUTL 3 a3 | 22 INPUTL 4 B3 | P2 INPUT2 0 c3 | 2 INPUT2 1 D3 | 92
DSM_OUTPUT2 AS BS DSM _OUT18 cs 7 | %4 INPUT2 2 an | 23 INPUT2 3 ma | P3 INPUT? 4 ca | €3 Da | 93
DSM_OUTPUT3 A6 B6 DSM_OUT19 c6 76 | 2 INPUT3 0 a5 | 24 INPUT3 1 re | P4 INPUT3 2 cs | ¢4 INPUT3 3 D5 | 94
DSM_OUTPUT4 A7 R7 DSM_OUT20 c7 VME+5V ~7 1 %6 INPUT3 4 g | 2 INPUT4 0 me | P5 INPUT4 1 ce | INPUT4 2 Dg | 9°
DSM_OUTPUT5 A8 B8 DSM_OUT21 cs Za | %7 INPUT4 3 a7 | 28 INPUT4 4 r7 | PS INPUT5 0 c7 | <6 INPUT5 1 D7 | 96
DSM_OUTPUT6 AQ B9 DSM_OUT22 Co 29 | 28 INPUT5 2 ag | 27 INPUT5 3 ra | P7 INPUTS 4 cs | <7 pa | 97
DSM_OUTPUT? A10 DSM_OUT23 C10 210 | 2° INPUT6 0 g | 28 INPUT6 1 Ro | P8 INPUT6 2 Cg | €8 INPUT6 3 Do | 98
B0 210 a9 b9 c9 do
All B11 C11 711 11 INPUT6 4 A10 210 INPUT7 0 B10 b10 INPUT7 1 c10 10 INPUT7 2 D10 d10
DSM_OUTPUTS A12 B12 DSM_0OUT24 C12 z12 |25 INPUT7 3 a1l | o7 INPUT7 4 B11 {79 INPUT8_0 Cll | 11 INPUT8 1 11§17
DSM_OUTPUT9 Al3 VME+5Y | B13 DSM_OUT25 c13 713 | 472 INPUTS 2 A2 |55 INPUT8_3 B12 115 INPUTS 4 ci2 |55 D12 | 15
DSM_OUTPUT10 Al4 I B14 DSM_OUT26 cl4 714 INPUT9 0 A13 a INPUT9 1 B13 INPUT9 2 Cc13 ¢ INPUT9 3 D13
DSM_OUTPUT1L ALS BIS DSM_OUT27 C15 Z15 | 714 INPUTO 4 ala | 213 INPUT10 0 a1 | P13 INPUT10 1 C14 | €13 INPUT10 D1a | 913
DSM_OUTPUT12 ALG B16 DSM_OUT28 C16 716 ﬁg INPUT10 3 ALS aig INPUT10 4 B15 Eig INPUT1L 0 Cc15 01‘5‘ INPUTLL D15 gig
DSM_OUTPUT13 Al7 B17 DSM_0OUT29 C17 717 a7 INPUT11 2 Al6 a16 INPUT11 3 B16 b16 INPUT11 4 C16 Cl6 D16 d16
DSM_OUTPUT14 AL8 B18 DSM_OUT30 c18 718 | 414 INPUT12 0 AL7 a17 INPUT12 1 B17 1 p17 INPUT12 2 Cc17 017 INPUT12 D17 | 475
DSM_OUTPUT15 A19 B19 DSM_OUT31 C19 719 719 INPUT12 4 A18 :18 INPUT13 0 B18 b18 INPUT13 1 C18 g18 INPUT13 D18 dis
A20 B20 C20 720 720 INPUT13 3 A19 219 INPUT13 4 B19 b19 INPUT14 0 C19 19 INPUT14 D19 d19
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A28 B28 c28 728 798 INPUT19 3 A27 07 INPUT19 4 B27 b27 C27 27 D27 d27
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ADD HALT q ? 6P ADD HALT N uss o Ls RS_LOCAL GT Qi 1
*—d 9 13 o—x = oY —121 ne12 85 27 u4s
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